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5HQG\�7UL�8WDPD������������� � 3HODNVDQDDQ 6HNRODK�6HKDW�'L�603�1HJHUL�
���3DGDQJ

3HQHOLWLDQ� LQL� GLODWDUEHODNDQJL�PDVLK� DGDQ\D� SHULODNX� WLGDN� VHKDW� VLVZD�
603� 1HJHUL� ��� 3DGDQJ�� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�D�� PHQGHVNULSVLNDQ
SHODNVDQDDQ VHNRODK� VHKDW� GL� 603� 1HJHUL� ��� 3DGDQJ�� E� PHQGHVNULSVLNDQ�
SHULODNX� VHKDW� ZDUJD� 603� 1HJHUL� ��� 3DGDQJ�� F�� PHQJLGHQWLILNDVL� IDNWRU�
SHQGXNXQJ�GDQ�SHQJKDPEDW�SHODNVDQDDQ VHNRODK�VHKDW�GL�603�1HJHUL����3DGDQJ�

-HQLV SHQHOLWLDQ�LQL DGDODK NXDOLWDWLI GHQJDQ PHWRGH GHVNULSWLI��3HPLOLKDQ
LQIRUPDQ GLODNXNDQ GHQJDQ WHNQLN SXUSRVH� VDPSOLQJ \DQJ� PHQMDGL LQIRUPDQ
GDODP SHQHOLWLDQ LQL DGDODK JXUX�� VLVZD� GDQ�PDV\DUDNDW� VHNLWDU� 603�1HJHUL� ���
3DGDQJ�� -HQLV� GDWD� WHUGLUL� GDUL� � GDWD� SULPHU� GDQ� GDWD� VHNXQGHU�GLNXPSXONDQ
PHODOXL REVHUYDVL� ZDZDQFDUD� GDQ VWXGL� GRNXPHQWDVL� 8ML NHDEVDKDQ GDWD��
PHQJJXQDNDQ� �7ULDQJXODVL�� � WHNQLN�DQDOLVLV GDWD�PHODOXL FDUD�SHQJXPSXODQ GDWD�
UHGXNVL GDWD� SHQ\DMLDQ GDWD�GDQ�SHQDULNDQ�NHVLPSXODQ�

+DVLO� SHQHOLWLDQ�PHQXQMXNDQ� EDKZD� SHODNVDQDDQ� VHNRODK� VHKDW� GL� 603�
1HJHUL� ��� 3DGDQJ� PHQJDFX� NHSDGD� 8.6� \DQJ� PHOLSXWL� NHJLDWDQ� SHQGLGLNDQ�
NHVHKDWDQ�� SHOD\DQDQ� NHVHKDWDQ� GDQ� SHPELQDDQ� OLQJNXQJDQ� VHNRODK� VHKDW��
3HULODNX�VHKDW�ZDUJD�603�1HJHUL����3DGDQJ�PHOLSXWL�SHULODNX�VHKDW�WHUWXWXS�GDQ�
SHULODNX� VHKDW� WHUEXND�� )DNWRU� SHQGXNXQJ� SHODNVDQDDQ VHNRODK� VHKDW� GL� 603�
1HJHUL� ��� 3DGDQJ� \DLWX�� ��� .RPLWPHQ� \DQJ� NXDW� GDUL� ZDUJD� VHNRODK� WHUXWDPD�
JXUX�����.HUMDVDPD�\DQJ�EDLN�DQWDU�SHUVRQLO�VHNRODK�����603�1HJHUL����3DGDQJ�
PHUXSDNDQ� VHNRODK�$GLZL\DWD�� )DNWRU�SDQJKDPEDW�SHODNVDQDDQ VHNRODK� VHKDW�GL�
603�1HJHUL����3DGDQJ�\DLWX�����$GDQ\D�VHEDJLDQ�VLVZD�\DQJ�NDUDNWHUQ\D�VXVDK�
GLDWXU�� ��� 0DVLK� NXUDQJQ\D� GXNXQJDQ� SHGDJDQJ� NDQWLQ� WHUXWDPD� GDODP�
PHQJDZDVL�SHULODNX�VLVZD�
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